Invoice No: #INV-2779EE3687B0

Invoice Date: 06 Sep, 2025



BILL TO: CMCI Sud France contact@cmcisudfrance.org 2 Chemin du pigeonnier de la cépière - 31100, Toulouse, Occitanie, France,

SL#	Language	Book	Pages	Quantity	Format	Unit List Price(€)	Tot. List Price(€)
1	English	The Complete Works of ZTF on Leadership (Vol. 4)	734	1	Paperback	20.99	20.99
2	English	The Complete Works of ZTF on Leadership (Vol. 5)	814	2	Paperback	27.96	55.92
3	English	Deliverance From Sin	66	2	Paperback	5.99	11.98
4	English	Freedom From The Sin of Adultery And Fornication	252	2	Paperback	11.99	23.98
5	English	Deliverance from the Sin of Gluttony	170	2	Paperback	11.99	23.98
6	English	Issues Of The Heart	108	2	Paperback	8.42	16.84
7	English	Practical Dying to Self And The Spirit-filled Life	114	2	Paperback	8.53	17.06
8	English	A Vessel of Honour	209	2	Paperback	10.43	20.86
9	English	Dealing with the self-life	134	2	Paperback	8.93	17.86
10	English	The Cross in Personal Relationships	74	2	Paperback	7.99	15.98
11	English	The Prophecy of the Overthrow of the satanic prince of Yaounde	40	2	Paperback	8.42	16.84
12	English	The Prophecy of The Overthrow of The Satanic Prince of Douala	40	2	Paperback	8.42	16.84

SL#	Language	Book	Pages	Quantity	Format	Unit List Price(€)	Tot. List Price(€)
13	English	Separation from the common	304	2	Paperback	12.33	24.66
14	English	My separation from the common unto God and world conquest	108	2	Paperback	8.42	16.84
15	English	A Word To The Students	86	2	Paperback	8.42	16.84
16	English	Spiritual Fragrance (Volume 1)	226	2	Paperback	10.77	21.54
17	English	From His Lips: On Our Vision	734	2	Paperback	25.82	51.64
18	English	The Influences that moulded him	548	2	Paperback	20.86	41.72
19	English	The Fruit of His Life	298	2	Paperback	13.99	27.98
20	English	The Facets of His Ministry	460	2	Paperback	18.52	37.04
21	English	The Movements he Birthed	360	2	Paperback	15.85	31.7
22	English	The Story of His Life of Seeking God	542	2	Paperback	20.7	41.4
23	English	From His Lips on Fasting	422	2	Paperback	17.5	35
24	English	From His Lips on Authority	106	2	Paperback	9.13	18.26
25	English	From His Lips on Finances	660	2	Paperback	23.85	47.7
26	English	From his Lips on Hard Work	102	2	Paperback	9.13	18.26
27	English	From His Lips on Marriage	546	2	Paperback	20.81	41.62
28	English	From His Lips on Blessings	270	2	Paperback	13.45	26.9

SL#	Language	Book	Pages	Quantity	Format	Unit List Price(€)	Tot. List Price(€)
29	English	Zacharias Tanee Fomum: 1945—2009	184	2	Paperback	9.93	19.86
30	English	The School of Soul Winners and Soul Winning	754	2	Paperback	30.04	60.08
31	English	The Complet Works of ZTF on The Gospel Message	828	2	Paperback	32.26	64.52
32	English	The Complete Works of ZTF on Leadership (Vol. 3)	642	2	Paperback	22.99	45.98
33	English	The Church: Rights And Responsibilities of The Believer	222	2	Paperback	10.69	21.38
34	English	Esther	80	2	Paperback	8.99	17.98
35	English	Victorious proclamations	80	2	Paperback	8.42	16.84
36	English	Ralationship and Intimacy With God	76	2	Paperback	9.99	19.98
37	English	Eternal Mark	68	2	Paperback	8.42	16.84
38	English	The Second Coming of Christ	222	2	Paperback	10.69	21.38
39	English	Giving to God	112	2	Paperback	8.49	16.98
40	English	Treasures in Heaven	82	2	Paperback	8.42	16.84
41	English	Feed my Lambs	134	2	Paperback	8.93	17.86
42	English	God, a Man, and Men	270	2	Paperback	11.65	23.3
43	English	The Shepherd And The Flock	192	2	Paperback	10.99	21.98
44	English	Walking With God	162	2	Paperback	10.99	21.98

SL#	Language	Book	Pages	Quantity	Format	Unit List Price(€)	Tot. List Price(€)
45	English	In The Power of Another	114	2	Paperback	8.53	17.06
46	English	The Baptism into the Holy Spirit	112	2	Paperback	8.49	16.98
47	English	TMBM01-2-Deliverance From all Sin: Workbook	124	2	Paperback	8.73	17.46
48	English	TMBM04—Daily Dynamic Encounters with God	117	2	Paperback	8.59	17.18
49	English	TMBM05—The Making of Disciples	133	2	Paperback	8.91	17.82
50	English	Unending Intimacy: Mary of Bethany	288	2	Paperback	12.01	24.02
51	English	Women of the glory (vol. 1-3)	646	2	Paperback	23.48	46.96
52	English	The Character And The Personality of The Leader	82	2	Paperback	10.99	21.98
53	English	Leading A Local Church	154	2	Paperback	9.99	19.98
54	English	Prerequisites For Spiritual Ministry	208	2	Paperback	10.99	21.98
55	English	Laws of Spiritual Success (Volume 1)	172	2	Paperback	9.69	19.38
56	English	Practical Preparation for Marriage	108	2	Paperback	8.42	16.84
57	English	The Use of Time	228	2	Paperback	10.81	21.62
58	English	Personal Spiritual Revival	108	2	Paperback	8.42	16.84
59	English	The School of Truth	302	2	Paperback	12.29	24.58
60	English	Knowing God - The Greatest Need of The Hour	168	2	Paperback	9.61	19.22

SL#	Language	Book	Pages	Quantity	Format	Unit List Price(€)	Tot. List Price(€)
61	English	You Can Receive a Pure Heart Today	128	2	Paperback	8.81	17.62
62	English	You Have a Talent!	226	2	Paperback	10.77	21.54
63	English	Are You Still a Disciple of The Lord Jesus?	122	2	Paperback	8.69	17.38
64	English	A Voice For Revival	234	2	Paperback	10.93	21.86
65	English	Revival: The 3B Prophetic Messages	84	2	Paperback	8.42	16.84
66	English	The Ministry of Supplication	232	2	Paperback	10.89	21.78
67	English	The Centrality of Prayer	250	2	Paperback	11.25	22.5
68	English	Life-Changing Thoughts on Prayer (Vol 3)	430	2	Paperback	14.85	29.7
69	English	Life-Changing Thoughts on Prayer (Vol 5)	290	2	Paperback	12.05	24.1
70	English	From His Prayer files	172	2	Paperback	9.69	19.38
71	English	Prayer Crusades (Vol 1)	268	2	Paperback	11.61	23.22
72	English	Practical Helps in Fasting Long Fasts	58	2	Paperback	9.16	18.32
73	English	Pray Without Ceasing	146	2	Paperback	9.17	18.34
74	English	Pray or Perish	146	2	Paperback	9.17	18.34
75	English	Life-Changing Thoughts on Fasting (Vol 1)	352	2	Paperback	13.29	26.58
76	English	Soul Winning And The Making Of Disciples	148	2	Paperback	9.21	18.42

SL#	Language	Book	Pages	Quantity	Format	Unit List Price(€)	Tot. List Price(€)
77	English	Victorious Soul-Winning	152	2	Paperback	9.29	18.58
78	English	The Gospel I Preach	156	2	Paperback	9.37	18.74
79	English	Making Spiritual Progress (Volume 1)	138	1	Paperback	9.49	9.49
80	English	Making Spiritual Progress (Volume 2)	120	2	Paperback	8.99	17.98
81	English	Making Spiritual Progress (Volume 3)	136	2	Paperback	8.99	17.98
82	English	The Narrow Way (Vol 1)	164	2	Paperback	9.99	19.98
83	English	From His Lips: About His Co-Workers	454	2	Paperback	18.36	36.72
84	English	From His Lips: About Our Ministry	826	2	Paperback	28.28	56.56
85	English	Knowing God And Walking With Him	148	2	Paperback	9.99	19.98
86	English	Qualifications For Serving in The Gospel	120	2	Paperback	8.99	17.98
87	English	The Inner Life	132	2	Paperback	8.99	17.98
88	English	The Power of a man's all	234	2	Paperback	10.99	21.98
89	English	Leading a Local Church (Vol. 2)	182	2	Paperback	9.89	19.78
90	English	Talents and Spiritual Gifts	264	2	Paperback	11.53	23.06
91	English	Becoming an undershepherd	184	2	Paperback	9.93	19.86
92	English	Laying hold on God's purposes in my generation	116	2	Paperback	8.57	17.14

SL#	Language	Book	Pages	Quantity	Format	Unit List Price(€)	Tot. List Price(€)
93	English	The Joy of Begging to Belong to the Lord Jesus Christ: A Testimony	120	2	Paperback	8.65	17.3
94	English	Miracles, healings, and deliverances	538	2	Paperback	17.01	34.02
95	English	Jesus Saves and Heals Today	130	2	Paperback	8.85	17.7
96	English	Encounter The Saviour	90	2	Paperback	7.99	15.98
97	English	Jesus is the Answer	148	2	Paperback	9.21	18.42
98	English	Faith that saves, heals and delivers	126	2	Paperback	8.77	17.54
99	English	The Game of Life	80	2	Paperback	8.42	16.84
	Total quantity 196 Grand total						
	Discount (40%)						- €939.77
	Amount to pay						€1409.65

## **NOTES TO CUSTOMER**

## **PAYMENT VIA PayPal**

Email: robyr@ztfbooks.com

**PAYMENT VIA BANK TRANSFER** 

ACCOUNT HOLDER: ZTFBOOKS IBAN: BE07 9051 1851 0866 BIC/SWIFT: TRWIBEB1XXX